The Challenge Machinery Company provides owner's
manuals on its products solely as a courtesy to its customers.
See the information below before using this manual.

These manuals are for reference only. These manuals include products which are non-
current, unsupported or no longer produced by The Challenge Machinery Company, and are
provided solely as an accomodation to our customers. By providing these manuals, The
Challenge Machinery Company makes no representation or warranty as to the products,
their current condition, or their suitability or fithess for use in any particular application, which
are the sole and independent responsibility of the product owner and user.

Older products may not comply with current safety procedures, guidelines or regulations,
and it is the product owner's and user's responsibility to evaluate the suitability and fitness of
the products in their current use and application. The Challenge Machinery Company makes
no representation, warranty or recommendation regarding any modifications which may be
required on non-current or unsupported products. The Challenge Machinery Company
assumes no liability for any modification or alteration to any Challenge product, and any such
modification or alteration to any Challenge product is not authorized by The Challenge
Machinery Company. The availability of these manuals is solely for the purpose of providing
reference information for the products.

This manual may not be complete in all aspects of product maintenance and repair. All
products should be used only by qualified and properly trained personnel, following proper
safety procedures. All products should be regularly inspected and maintained, and their condition,
application and use should be periodically evaluated by qualified personnel. Only qualified and
properly trained technicians should perform maintenance, repair and replacement
procedures. Attempting these procedures without proper training may cause machine
damage or operator injury!

Products may be unsupported by The Challenge Machinery Company due to age or the
unavailability of parts from their original manufacturer. No parts or product support will be
available to repair or maintain unsupported products. Older products may not be UL listed (if
the product does not have a UL label it is not a listed product), and may not comply with
applicable installation or other regulations or requirements if relocated to a new facility.
Many municipalities require a product to be UL listed before an electrician will connect power
to them. Often the cost of updating an older product to comply with current safety regulations is
greater than the value of the product.



SERIAL NO —

MODEL —

SAFETY ALERT

This safety alert symbol means CAUTION OR WARNING-PERSONAL SAFETY

A INSTRUCTION. Personalinjury may result if safety precautions are not carefully read
before attempting to operate or repair this machine. See SAFETY PRECAUTIONS,
page 1.

* This machine is designed for ONE PERSON OPERATION ONLY!

* Always DISCONNECT THE POWER before working on this machine.

operating.

» CRUSH HAZARD - Keep hands, hair, cleaning rags & loose clothing away

X
ﬁodel JF

=
Machine
60 $°rhis manual covers serial numbers 53919 & up.

YS GIVE THE SERIAL NUMBER OF YOUR MACHINE WHEN WRITING.

Sold and serviced by

THE CHALLENGE MACHINERY COMPANY
1433 Fulton Avenue » Grand Haven, Michigan 49417-1594 U.S.A. » Fax: 616/842-6511 * Phone: 616/842-8300

» DO NOT OPERATE WITH ANY GUARDS REMOVED! Replace all guards bvo
|S%

F. 330-H

RICGOOSIUN MO OISR R A



FOR YOUR CONVENIENCE

This manual is provided for your convenience. In it are instructions for installing, opera-
ting, and maintaining your new Challenge Paper Drill. These instructions are intended to help
you install this drill in a minimum of time and the least effort, operate it in the most efficient
manner, and maintain it so that it will provide you with years of trouble free operation.

Contained in this book also, is a complete list of parts indicated by number to make it
easy for you to correctly identify and order spare or replacement parts. It may be a long time
before you need this information so it's suggested that it be kept with the machine so that it is
available when required.

When ordering parts, be sure to give part numbers and the machine’s mo rlal
number. This information is essential and will enable us to fill your requirem
help keep your equipment in efficient operation.

: ‘
Remember: your authorized dealer is interested in seeing that t e
mance possible from your machine. Rely on him for parts and se&

=

5]
t— 4
i
)
/
]
2t
7]
1




TABLE OF CONTENTS

Page
WETTEIEY, &6 55 monmsoms o 6 5 8 5 69 6 SHuumrioi g 6 § 8 ¥ 5 6 & 4y SOuie £ 5 ¥ 5 55 8 5 = Wsdsiw & 0 6 5 6 &5 % & 3 1 S 2
T2 Q1T T3 2

Lastallation iNSEAIGTIONS o5 e s s s memem sos fa 5 s s omE e e sy 66s e@eds a5ss vy “‘. 3
Operation INSTIUCTIONS . . vttt e et i e e et et e e et enannnee e e 0 ... E\

RoOULINE ddJUSTMEBNTS o cvvovissaaamaaavs i eisssnonmmvasvns 58 ames s 0 ...... ;

ROULINE MAINTENANCE . . v ot vttt et et e et e e ee e et e e e eae e o ...... »4
Trouble shooting .. ..o v ittt i ettt en e enns o ........ 0 . 5
ARG TIPS o v et ettt WD . » R ‘5
Main assembly - (drawing) .. .....ccovin ... : ? ..... “\ ....... > &%

Slotting and slitting attachment ... ... o ..... \ o A O APPTT TR, 10
Cornering attachments: Light D

Acsssris....... R\ LIRN * AP o
Hollow drill sha&%& . »90“6‘9 ........................... 19
¢ at

Q FETY PRECAUTIONS

SEV &RATIONS - Contact with high speed drill could cause severe injury.
a machine off and walt for drill to stop before removing drill bits. Keep hands

s éy from drill when lowering drill head.

} SHOCK HAZARD - Always disconnect power cord before cleaning, lubricating or servicing
' this machine.

2 HIGH SPEED DRILL - Keep rags, loose clothing and long hair away from rotating dirill.
[ — 5 : ;
el Personal injury could result from items being caught on drill.

GUARDING - Do not operate drill with any covers removed. They are for your protection and
must not be altered.




LIMITED WARRANTY

PLEASE SEE ENCLOSED WARRANTY

\
IT IS VERY IMPORTANT THAT YOU READ AND UNDERSTAND THE CONDITIONS 0‘

'THE WARRANTY INFORMATION SHEET MUST BE FILLED IN CORRECTLY, TELY
AND BE ON FILE AT THE CHALLENGE MACHINERY COMPANY IN RW
TY TO BE ISSUED ON YOUR MACHINE.

3 o 12
I&FW‘APER DRILL
;“cr 0“% Quantity

Part No. e‘ es ] ?
A o s
- age 1
5 it kout 1
: 469‘ Tab 1
CD-ﬁ @ drill 1
8 aner 1
é? DM drift 1
8 Lubrication stick 1
-154 3/32" Allen wrench 1
F-330-H Paris manual and instruction book 1
A-4682 Cutting blocks (1 doz.) 1
3949 Paper shims (cutting block) 2

\3}‘

-

N B R O R S R R R R R R R S SR R R AR S S RSB




INSTALLATION INSTRUCTIONS

Refer to the parts lists and drawings in the back of
this manual for part identification and orientation, as
necessary.

All guards and instruction plates are installed for
your safety and information and must remain on the
machine as shipped from the factory.

Uncrating The Paper Drill

Unless otherwise specified, this machine is shipped
in a wooden crate with the cutting stick knockout,
backgage, and table removed. These items are packed
in a separate box. The machine should be unpacked
by carefully removing the crate so as not to damage
any of the machine parts.

Immediately after uncrating, check off parts
received against the packing list. Also, examine for
any physical signs of damage incurred during ship-
ment. The machine is inspected before and after
crating at our plant. The responsibility for filing a
claim against the carrier for damages incurred during
shipment rests with the receiver of the goods (FOB
our factory).

The machine is held in place on its shippin
means of wooden blocks. Remove these
then carefully position the machine on

Clean all parts with a commer
(such as C.R.C.) befor
machine.

Installing The Tabl$‘
The tabIE\ pla f|||

Starti Nlachl

wer for achlne is supplied by a single
motar which directly drives the spindle. It is started
and stopped by a toggle type switch located on the
top of the motor. The “on” and “off" position is so
indicated. The switch is protected by a channel type
guard to reduce the possibility of accidental contact.
Be sure that the motor is operating before trying to
drill paper.

Lighting The Machine

The table light for this machine is on a flexible
neck which allows you to position the light for
maximum illumination of the working area. The light
is turned on by means of a push type switch located
in the socket.

.. us.,:;g0

machine screws and washers provided. Simply posi-
tion the table, line up the holes, and tighten the
SCrews.

Installing The Backgage

To install the backgage you must first remove the
pressure foot assembly (held in place with two

knurled screws). While facing the frontgqof the
machine, hold the backgage with the op ward
you and slip it on the front of the t S|Id

the gage back on the table and
with the two thumb screws
for identification of part

q, yg’d\'

re footas: in pI

Attach re
two kn ews pro“
cutti s?nockou ion. Place
$ i e tabl
nse

ed hea ollow drill into the
the cover is in place before

aper Drill is factory wired to 115 volt

ations. It is important that the power source

plies with the electrical specifications of the

machme We recommend that this machine be
plugged into a 15 amp circuit.

ATION INSTRUCTIONS

Operating The Drill

First, be sure that the switch is turned on.
Depressing the foot treadle brings the drill down
through the lift of stock. After the drill reaches the
bottom of its stroke, release the treadle and the drill
will return to its top position.

By releasing the treadle, the operator can stop the
drill in its downward stroke allowing it to return to
the normal up position, thus preventing costly errors.
Never rest your foot on the treadle without intending
to bring down the drill.

Using The Auto-Trip Side Guide

As each hole is drilled, the side guide is auto-
matically tripped, and as soon as the drill clears the
(continued next page)

SR i

R

SRR




stock on its upstroke, the guide is free to move to its
next stop. This is accomplished by pushing the stock
to the left and moving the guide at the same time.
When drilling only one hole jobs, when doing slothole
work or when cornering, the automatic trip arm
should be locked in its up position by tightening the
thumbscrew.

Setting The Side Guide Stops

First set the rear gage to the desired back margin.
Be sure both sides are set to the same dimension and
tighten the two thumbscrews. Next, loosen the set
screws which hold the stops in place and slide the
stops to the desired dimension between holes (a scale
in the backgage is provided for this purpose). The
first stop is always set for the distance from the edge
of the sheet to the center of the first hole. Final
adjusting or centering of the holes is accomplished
with the knurled screw at the left end of the side

ROUTINE A

Adjusting The Vertical Stroke

Always turn the spindle adjusting locknut t

extreme down position (thus raising the he
extreme up position) when changing drill T

spindle so that the drill will just c
bottom sheet of a lift before reachi

its stroke.

This adjustment is by the e
adjusting locknut Ioca& the t he guide
rods, just behind m . Turni ut ¢

indle whj g it cou -
spindle. t set indle

1 “g the ‘ ck at
dri] (0] go slotting or

to stroke adjustment
rom cutting too deep

rnerf
to prev drill o i
i@e ttingq.
Q also n* o check the adjustment of the

Whe
c

nut locat the spindle adjusting screw, just

e
the
ottom

Remo Q
(o)
‘ e and push up on the cutting stick knockout. -

guide arm. Loosening the finger screw on the top of
the side guide arm allows the knurled screw to be
turned in or out thus increasing or decreasing the
distance to the centerline of the drill (and hole).
Before drilling a full lift of stock, it is recommended
that a sample sheet be drilled and measured to check
this fine adjustment. Be sure that the finger screw is
retightened before drilling.

The automatic trip gage comes equipped with
seven stops. Additional stops can be purchased at a
very nominal price. Challenge fixed index gages are
recommended where the same job is
over and over again. They are e

attached and removed. See pag
description. 6
NOTE: When drillin

roller assembly,
side guide a

DJUW S QQ»
ﬁ he %rack ta
o al e press and so that the foot
3 ‘Q |0€s no tand at its maximum up

e!utting Block

strips

T

ve the cutting block, simply reach under

emoving Drills From The Chuck

Insert the drill drift, flat side down, into the hole
in the chuck and lift upward. The upward movement
forces the drill down and releases it from the chuck.
The spring clip on the end of the chuck is provided to
cover the drift hole and prevent paper chips from
flying out when drilling small diameter holes.

NOTE: Sometimes the drills become so firmly seated
in the chuck that it is necessary to tap on the drift
to get the drill to release.

ROUTINE MAINTENANCE

Service Checklist

Daily

1. Sharpen the hollow drill often and reset the
spindle adjusting locknut if needed.

2. Lubricate the hollow drill frequently with the
Drill-ease provided.

3. For better hollow drill life, remove the drill

when not in use and soak in light oil or
kerosene.
Weekly

1. Clean guide bar shafts around frame and oil with
No. 30 oil.

2. Clean side guide shaft and oil with light oil.

3. Clean clevis pins and oil with light oil.

handled

ng quickly
¢

s




TROUBLE SHOOTING

(Refer to parts lists, pages 5 thru 7
Problem Area to Check

1. Lack of power

Check for bind in treadle assembly.

2. Drill head won't return.
stuck

3. Drill head will not

come down. jammed.

DRILLING TIPS

Important — Always avoid drilling too slowly. The
spindle should be brought down as rapidly as the drill
will easily cut through the paper. Also, the spindle
should return to the up position as rapidly as possible
to avoid the spinning of the driil in the stock on the
upstroke.

Instead of punching slotted holes for five
hole universal binding work, save time

drilling a 1/2 inch diameter hole in p slot
The slot is only intended to allo or ri

be used in either location an

this.

Having fixed ga s frequ eat
standard jobs, or sy,-mal on d way
save set-up ti ssure runs
identical e

es % bindg ead of
them | eat deal of

artic gru
he opek)care drills is important.
Fol sev. ge ions for trouble free
Keep Drills $harp — A dull drill is the major

cause of drill breakage and production tie-ups.
Usually after three hours of drilling, depending
on the type of paper being processed, the drill
should be sharpened. A dull drill results in poor
quality work,

2. Keep Drills Clean — A dirty and rusty drill will
not permit the free upward passage of the drill
chips. Pressure built up by a clogged drill will
split or break the drill. To keep it free from dirt
or rust, clean the drill of all chips after each use
and apply a light oil to the inside and outside.
Drills should be cleaned out immediately after
each use. This is particularly true if a coated

Check voltage at machine - may be low.

Check lift springs - may be broken or

; (Replace springs if nec
Pull down shafts froze in frame. ditto

Check for broken lift spring - may be

, for part location, number, and description.)

Solution

Remove other machinery on line or
provide a separate branch circuit.

Free bind, clean and oil.

Pry up head, clean and oil shafts

Replace spri ‘
stoc drill se j 1 $5
ently C nto pd mass

e dl’l” lausin the next
‘lils — on assists in the
the cli elps avoid overheating
drills: adily available stick lubri-
ose. Hold the end of the stick

agai the of the rotating drill. Be sure to
t cutting edge with the lubricant also.

e Spindle Clean — Clean out the drill spindle
quently This will prevent any buildup in the
Splndle of the drill.

5. Set The Drills Correctly — Do not cut too
deeply into the cutting block. The drill should
just touch the block and cleanly cut through the
bottom sheet. During drilling, do not set the
drill deeper into the block but change the
position of the block frequently. Drilling deeper
into the block dulls the drills quickly.

6. Check For Drill Wobble — If spindles are badly
worn or bent through misadjustment, have them

replaced immediately. A wobbly or loosely held
drill will break.

7. Check Your Drill Sharpener — The cutting edge
of the sharpening bit should be inspected fre-
quently to make certain that it is sharp and free
of nicks. Never let a drill drop onto the
sharpening bit. It will chip the sharpening edge.
Use gentle pressure when sharpening - let the
sharpening bit do the work. Check the sharpness
of the drill after sharpening. The cutting edge
should be razor sharp.

Just a little time and effort taken with each use of
your paper drilling machine should result in trouble
free operation over many years.

i
.
L‘ﬁ
1



N
%agesﬂl &aMox use of
ccessory BrackebA-4683-1

F.330-H/JF DRILL/MAY 95

JF PAPER DRILL MAIN ASSEMBLY
A-4620-3

.....

) =
a -
i

M2:950076




Ref.

=
o

27.
. 4671-1
29.
30.
31.
32.

33.
34.

35
36

MMOMNMNOMNRN — — = = -
RN R e oo re N 00O ~NO O AON =

Part
No.

4619
4618-1

. H-6913-608

H-6428-8
H-6918-506
H-6428-7
4605-1
4613-2

. A-4608

H-6923-406
H-6633-616
H-6923-412

. A-4656

. 4668

. A-4672

. 5-1193-75
. H-6913-610
. H-7325-12
. H-6423-6
. 5-1482

. 4669

. 5-1193-37
. H-6423-4
. H-7325-8
. 4770

. A-4601-5

4602-2
4603-2

A-3975
H-6961-605
4635
A-4690-3
4636
4691-3
5-1792

9-1

M2:950076

Treadle Assembly .....c.ccoovinne

Tabi
H-7322-#
H-69 @ 24 1

JF PAPER DRILL MAIN ASSEMBLY
A-4620-3

Part Name

Spindle Lock Nut ...
Spindle Adjusting Screw ....
3/8-16 x 1" Hex Hd. Cap Screw ............
1/2:20 Hox JamINUL. ......ocommmmmmssmersssars
5/16-18 x 3/4" Soc. Hd. Cap Scrw ........
7/16-20 Hex Jam NUt ......covvevininiienns
MotoF Bracket:..cuawmunnnssainns
Lift Spring ..
Chip BOX v aimannmnnmmens
1/4-20 x 3/8" Rd. Hd. Mach. Screw .......
#6 x 2" Taper Pin ...
1/4-20 x 3/4" Rd. Hd. Mach. Screw....... 2
Stand Assembly ...
Treadle Bracket ....

MNN LN == ==

.750 Truarc Retaining Ring ..........ccco.....
3/-16 x 1-1/4" Hex Hd. Cap Screw ........
3/8" Lockwasher ..........cccceveeeenenneenne
3/8-16 Hex Nut .....

Pin ......

ClEVIS evvvvivresrerssreseresee s
.375 Truarc Retaining Ring ...
1/4-20 Hex Nut ....cccooviniiceanne
1/4" Lockwasher ...

T Brage wormmrmnsssiesnig

Base Assembly
Frame Only .........
Guide Rod ....
Treadle Rod .....
Cutting Block Ri
#6-32 x 5/8" F

0-
Cutti
Pres

Qiy.

Ref. Part

No. No. Part Name Qty.
38. 4631 Pressure Foot Guide .........cccccvevviriiinnnn 1
39. 4632-1 Pressure Foot Adjusting Screw ............. 2
40. H-7322-4 1/4" Polished Washer .........cccccoeveeinenne 2
41. S-1518-37 3/8" Retaining RiNg .....cocovvvniiieninnnnns 2

42. H-6938-102406 #10-24 x 3/8" Soc. Hd. Set Screw ........ 2 %
43. E-1600-21 MOLOE, 1/4HP ..rveeeeeevrrerrees ‘ 1 i
E-792 Switch Only & by |
44. H-6913-504 5/16-18 x 1/2" Hex Hd. C W ... 4 i
45, H-7322-5 5/16" Polished Wash 0 ........... 4 \ &
46. 4607 S b\ A ®
47. 4606 Chip Shute ..
48. H-21S-187-0750 3/16 x 3/4" ) et &
49. H-215-187-0500 3/16 x 1 i £
50. A-4622 Chi 71
51. A-4638-3 7
52. EE-796-3 ssembly@,.» 22
Only ..
14-20 x 1 /&
3/16 x r
#0 /4 .
2406 #1 /
Trip
10-24 x 3/8%

. H-5247-5

. H-6424-5 5/16-18 Hex Jam Nut ... g
. 5-1076-2 Deeal .ivuineismpmanssmsiarss

. $-1193-43 7M1 6" Truarc Retaining Ring.....

. E-933-2 Light Bullcnovmnnisanmannani s re

tion Label . .

IF@ ClIP oo it

6 #10-24 x 3.8" Rd. Hd. Mach. Screw......

Electrical Sped. Plate ... :

U.L. Listed Plate ...........
Caution Plate..........

Name Plate ........
Drift Hole Cover .....

1/4" Hollow Drill ............

5/16-18 Flex-Lox Nut ...

Pow
° Gon
‘9
V

PN = b b b b b ok b 2 D)

o R G i S

F.330-H/JF DRILL/MAY 95



AUTO TRIP GAGE ASSEMBLY ;

X y\a'
-6070 rack
6069 l'ip Br:
Back ate
406

-692

0- 2 d Hd. I'U‘Iach Screw. ........
952-102406 /8" Nylon Pt. Soc. Set Screw..........
611-1 mde Stop
51-1 gage...

4655 Backgage Clam ............................
! H-6918-405 1/4-20 x 5/8" Soc. Hd. Cap Screw....
10.  H-6955-508 5/16-18 x 1" Thumb Screw....

1. 4794 Rear Gage Guide Plate....
12. 6063 Side Guide Slide...
13. H-6913-407 1/4-20 x 7/8" Hx. Hd. Cap ‘Screw...
14. A-4785 Assembled Side Guide Roller....
15, A-4791 Side Guide Face Assembly...............ccoovivninss, i
16.  6055-1 Side Guide Arm... e
17. 6067 #8-32 x 3/8" Brass Flnger Screw... JUURTRRRO |
18. H-6918-102408 #10-24 x 1" Soc. Hd. Cap SereW........cveveeenen 2
19. A-6060-1 Ad]. Screw and Trip Assembly .......... 1
6056-1 Trip Lever OnlY.. ..o 1
20. 6057 Collar ... s |
21. H-21S-187-0625 1/8 x 5/8" Sel Lok F'm il
22. 6058 FINGOT SOPOWL.0u.icosnninsmsmnississismmsiisimgi s 1 B ia ghi i ing Attachment Kit No. A-6411 and
23. H-6423-#10 #10-24 Hex Nut ..... 1 Thia shim:comee wilh Comering nt Kl

must be installed as shown in the drawing when using the comering
attachment. It can be left in place for normal drilling operations but
must be removed for drilling narrow strips..

24, H-6940-102404  #10-24 x 1/4" Fii. Pt Soc Set Screw.
25, H-6918-404 1/4-20 x 1/2" Soc. Hd. Cap Screw......
26" 4827-2 Shim...

8 F.330-H/JAN. 87



b

E-1237- |I—

E-1369-3 —pt

A-4638-3 —/

RR

%
«»

~OPENOOADBN

-

F.330-H/JAN. 87

-‘,/—EFfTQB—S REF.

CUT MOTOR WIRE TO 2y"
102106 -6923@

-968-3
5-B87

E-l214-(8)

‘Qo "OTE;:

the DIAGRAM
@ EE-1368

Part
No.

H-7324-#10
H-6923-102406
H-6423-#10
E-068-3
A-4638-3
E-1237-1
E-1214-8
E-1369-3
E-913
S-887
KK-299-2C

i (.
T

“ DOES NO
E ROD BRAc}

Part Name Qty.
#10 Shakeproof Lockwasher............coccnunen: i
#10-24 x 3/8" Rd. Hd. Mach. SCrew................ 3
#10-24 Hex NUL.............cooiinnienmnnimiseressssnennans 1
WG Gl 2
Guide Rod & Elec. Box Assembly.............ccoeeee. 1
Wire NUL....ocoere v ceseaians 2
EYOIOL......ceoere e sannsarss e seeenes s 1
BOX COVEN...ceev e e sissssr s 1
45° Conduit ClEMP ......ocoerrmrenreeresssessssssansessensns 1
90° Conduit CONNECION.........ccoocciccnisissannsimnrinns 1
Power Cond............ccusminsiimmimmmmenssnsasissasemsassasass 1
9

AR



SLITTING AND SLOTTING ATTA-C-HMENTS FOR JF "
& CENTURY DRILLS .

V-SLOTTING AND SLITTING ATTACHMENT (A-6410) -~

Rear Gage Filler
6409

Allen Screws
1%-20 x o "

"Allen Capscrew — ‘\‘
1420 x 1" V-Slotting As y e

3/16” Allen Wrench

W-130
V-Slotting §
To cut V-slot holes, f e ro

the power and

Flat Head Screw
10-24 x 3/8”

T R T e e, mmmr e : - -

Attach the Backgage Fillers and replace the Pres-
sure Foot.

[”""'N‘-I-H-MJ fdd

Remove the pressure foot by unscréwing the knurled
nuts and install the Mounting Bracket with the Hold-

er Socket Screw facing the operator. Next, attach the Knife Assembly. Align the _Blades to

10



the already drilled holes and tighten the Holder
Socket Screw.

Replace the Knife Holder in
For best results, lay a sheet of chipboard underneath and turn the holder in th
your work and set the depth-of-cut so it just makes it slit.
through the chipboard. The blades should not cut in-
to the wood block when slotting or slitting.

g g g g

Make your first slit farthest from the side guide* then
slit the other side of the hole and proceed to the next
@ve the Knife Thrust Block, slot gosition.

and Knife and set it aside. For narrow slots, position the side guide stops for
the first cut farthest from side gage*. Leaving the

side gage at the same position, lift the Side Guide
Face and turn it around.

> Knife
Holder

Knife Holder
Left Hand Plate
Knife Thrust
Block &
Screw

Remove the Right Hand Knife and position it in the
left hand knife slot.

11




Jog the stock square against the back and side
gages and make the second cut. Your Slot is now
complete.

SFIRST CUT-FARTHEST FR
SIDE GAG

%ce to the
g

next slot.
%e farthest from the side
x w on the paper that would

— MAXIMUM CAPACITY OF SLIT-
SLOTTING ATTACHMENTS IS ONE-

12

os L

[:




LIGHT DUTY CORNERING ATTACHMENT FOR JF &

CENTURY DRILLS
CORNERING ATTACHMENT (A-6411)

Allen Capscrew

Ya-20 x V2"
Bracket
4684

Rear Gage Filler
6412

316" Allen Wrench
W-130

Allen Capscrew
Va-20 x %"
5/32" Allen Wrench

W-137 ade Holder Nut
¢

1% " Fiber Cutting Blocks
KK—474

*Knives available

Straight
Diagonal

operation, but must be removed for drilling narrow
strips.

Next, remove the pressure foot by unscrewing the
wo knurled nuts.

Now install the Side Gage Spacer; this part is not

used on the JO drill and may be discarded. The Replace the wooden drill block with the three Fiber
spacer may be left in place for normal drilling 13 Blocks included:

AR A SRR - AR 0,0 N8 SRS AR I S



Holder

Install the Rear Gage Filler Block on the right side of
the backgage.

Install the Knife Holder Asserﬁbly i
tighten the Knife Holder Soc
holder comes assembled Jwi

de and back gages. The knife is squared to the

U
per by loosening the Knife Holder Socket Screw
and rotating the Knife Holder Assembly so that the

knife edges match up to the sides of the paper.

: o
b i ] , the Knife = ! b
E$ e rear of the e ! %
* unting holes in the
S knife on the cutting +

T Ma R o

‘U

Raise the Auto Trip Mechanism and lock it out of the
way with the thumb screw.
Your Challenge paper drill is now ready to corner.

When using the Straight Diagonal Knife, the bracket NOTE: Maximum cutting capacity is one-half

Pl N

[T

is reversed, with the holder socket screw facing the inch (13mm). Be sure to check the stroke
operator. The holder mounting screws are then in adjustment to prevent the knife from cutting too
the forward position. deep into the cutting block.

14



CORNER-MATIC HEAVY DUTY CORNERING ATTACHMENT (A-4980) for
JF & CENTURY DRILLS

716" (11mm) Cornering Knife
Supplied

Knife Holder
Assembly

Slide Rod Spring

Clamp Sprin , V‘

1/8" Allen Wrench
W-141

5/32" Allen Wrench
W-137

o

3 n ‘
3/16" Allen Wrench KK-474 ‘

W-130

*Other Knives Ava | 9
4981-2 1/8" ( 7/16" (11mm) Radius
4981-4 adlus 1-8 1/2" (13mm) Radius

’
4981-6 5mm) 4982 Stra|ght Diagonal
Lots orde
APACI 5mm).

I f
“So!
MAXI
er at box while in- Remove the pressure foot by unscrewing the two

fety, I DULP
éa ing a knurled nuts and remove the hollow drill.

Remove the wood cutting block and replace with the
three fiber blocks supplied.

Move the backgage to the rear of the table and posi-
tion the Side Gage to the far left of the table. You

15



Century B

o
=

e vN‘l"‘"I'HhhHm
Ll -

CICIC AL R

. 4 - i

4 . 3 _ Install the Knife Blade from the ped
\ = ® Arm — ment, slide it up into position %

may also want to lock the Auto Trip Mechanism out
of the way. NOTE: On the Century Drill, be careful
not to damage the Backgage Trip Lever when mov-
ing the backgage to the rear of the table. Lever arm
may have to be lifted up to clear opening in frame.

e Hulma ST

{en the socket screw to hold it in place. %]

for the pressure
d slide it into place.

sl e

Adjusting Screw 8

The Depth-of-Cut may be adjusted with the knurled
screw on the right side of the attachment (indicated
with a tag when shipped). The knife blade should just
make it through the stock and not cut into the fiber
block.

The blade can be squared to the paper by loosening
the socket screw in the knife itself and rotating the
blade until the edges of the knife match the edges of

et the paper.
Attach the holder to the drill with the knurled nuts The blade-can also be adjusted into or out of the
that held the pressure foot in position. paper, depending on which blade you are using, by

16



L
loosening the socket screw on the front and tighten-
ing the sockel screw in the rear of the attachment to
bring the knife forward, or by loosening the rear
socket screw and tightening the front screw you can
move the knife farther back.

Turn the power on (Century only) and your Challenge
Paper Drill is now ready to corner.

17

F



ACCESSORIES FOR CHALLENGE PAPER
DRILLING MACHINES

Genuine Challenge Hollow Drills

In 13 Standard Sizes Fer Every Drilling Need
(2" drill capacity unless otherwise noted.)

]
18t 3/16"Ht 1/4" 9/32" 11/32"
5/32 "t 7/32 Tt 17/64" 5/16"

17/32" & 9/16" available by special order Drill Capaci

This wide range of standard drill sizes is available to me, ordlna eed
Carried in stock by local Challenge dealers.

rlllmg Blocks

Challenge Drill-E 6? C

Lubricant Stic

Cat. No. 4688 Q ‘

ThS lub stick pr,

~4682

ese Challenge 1-1/2" End-Wood Drilling Blocks
are for round hole drilling operations. Sold in lots
of12.

Sharp-Eze | Drill Sharpener
Cat. No. 11900

Exira Backgage Stops

The rugged Sharp-Eze | drill sharpener is the

In addition to the stops supplied with each perfect accessory for your Lincoln Drill. Of durable

vb ¢
-1/8'

Challenge Paper Drilling Machine, extra stops are
available at a nominal price.

In ordering, be sure to specify the model and serial
number of your machine.

chrome plated, die-cast construction, this tool will
sharpen 1/8" to 1/2" bits without having to remove
them from the drill. The spring loaded, diamond
sharpening head provides the proper pressure
and has a built-in chip removing pin. The Sharp-
Eze comes with a magnetic base and a iwo foot
aitached chain for easy storage and quick access.

F.330-H/JAN., 87 18

B

R

=
AN RN

SRR R NN R AR

RRRRRR O R R R AR AR RN KRR IR RRRRRSRRRANRERE AR




Challenge Power Drill Sharpener
Cat. No. A-6450

A new moderate-cost power drill sharpener. Plugs
into any standard 115 volt, 60 cycle, AC outlet.
Handles Challenge and other taper shank drills.
Adaptors also available for handling practically all
other makes.

tem . &

HOLLOW DRILL SHARPENER

tapered e
on the ¢

ned dril
n pay for
ger drill life . . .

sharpening time.
/2 inch in diameter

mportan drill sharpener automatically
puts just the right amount of bevel on the hollow
drill for best drilling resulis. It's self centering, too,
so that the center of the sharpening bit exactly

meets the center of the hollow drill. The drill
sharpener also has a replaceable sharpening bit.

items Part No.
Challenge Hollow Drill Sharpener A-4950
Extra Cuiting Bit 4952

Here's a unit that Qes dri ha%ng lonhs:
easy. All you d*i e the in t
drill hol . rt the Q OTE:
) er ree«. )

Replacement Cutting Bit a e‘
Resharpening Service - Your O 69-R
; @?;a i \3}‘

Always handle carefully

1. Be sure to wipe off all grease before using the
sharpener.

2. Remove any paper chips from the hollow drill.
3. Place the hollow drill in the drillholder section.
Inser the sharpening section, being very
careful to bring the drill and cuiting tool

together without bumping.

CAREFUL: The cutting tool Is made of a
glass hard materlal and may be chipped
by careless handling.

4. Turmn the cutting unit clockwise, maintaining an
even pressure until the hollow drill is sharpen-
ed (usually iwo orthree furns).

The cutting tool seldom requires regrinding,
but when this does become necessary, the bit
should be sent to the factory as regrinding
must be done on a diamond wheel.

F.330-H/JAN. 87
19

S R R L R




FIXED GAGES and EXTRA STOPS

Challenge Standard Fixed Gages

These fixed gages with pre-cut hole spacings fit on
the side guide in place of the movable stops To use,
simply loosen the set screws holding the adjustable
stops and slide them out of the way. They may either
be removed from the backgage or slid to the extreme
right end of the scale where they will be out of the

into the backgage from the left end making sure t
the slanted lead for the slops is to the left. P

the gage so that the right end lines up th
dimension on the scale for the centerli
hole to be drilled. Tighten in pla
SCTews. Actual operational us

way and cannot become lost. Slide the fixed gage i

TN P

ARSI AL

These fixed gages are available from stock in the
following standard types:

22-stop Gage, 1/2" centers for Multi-Ring Binders i
25-stop Gage, 3/8"centers 2
25-stop Gage, 1/4" centers i
34-stop Gage, 1/2" centers i

46-stop Gage, 3/8" centers \
50-siop Gage, 1/4" ceniers ‘ °

RARRE RSN S

Speclal Fixed Gag e |
spacing can also be eto ||
specify the nu e hole 1
spacing. A sg j or drawing

of the hol@ J8pa i Als& specify

, extra stops

E’ﬁamlnmp |
=
ify the model and serial }5:

F. 330-H/DEC. 91

20









